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If S represents a given side of a triangle and if 4 represents a given angle of a triangle, then the Law of

Using the Law of Sines

Sines can be used to solve the three oblique triangle cases shown below. yd
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The SAA Case The ASA Case The SSA Case
(The Ambiguous Case)

To use the LOS, you must have an ANGLE-OPPQOSITE SIDE 'MATCH' from which you can
create a ratio.

SAA:
For the triangle below C=102°, B =29°, and b =28 feet. Find the remaining angle and sides.(SOLVE THE TRIANGLE)
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1. Determine the third angle of the triangle - ! )
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Then, apply the LOS to solve the triangle: sind  sinB  sinC
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ASA Again, use 180 degrees fo determine the missing angle. Then, create a
ratiol Always return to your ‘BASE RATIO” {o solve for other parts of the iriangle.
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iw/} n Exercises 1-8, solve each rriangle. Round lengths of

sides fo the nearest tenth and angle measures to the nearest degree,
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In Exercises 9-16, solve each riangle. Round lengrhs to the
nearest tenth and angle measuries to the nearest degree.
9. A=44° B =25 4= 12
10. A=36°C=24° 40 =22

11. B=85°,C=15°b =40
12 A =85 8B=35¢=30
13. A =115°,C =35%¢ =200
14. B =35°C =125° b = 200
15. A =63 B=63°¢c=6
16. B=80°.C=10%a=

It Exercises 17-32, nwo sides and an angle (S5A) of a mriangle are
given. Determine whether the given measurements predice one
triangle, nvo iriangles, or no triangle ar ail. Solve each mian gle thar
results. Round 1o the nearest tenth and the nearest degree for sides
and angles, respecrively,

17. a =20.b =15, A = 40° 18. ¢ =3
19. a =10.c =89, 4 = 63°20. g = 37.



